EM30%E ATA RANKING (REFETH)

[ RFS5240/%-49WBFSIILR | 20184F07H 05853
BT K% 55T ait 2R | BFF | BUF mE BxZ || 2018F | 2RF | BEZ | BUSE WE Bx= || 20176
Point 18.04 18.05 18.09 18.11 18.11 Point 17.04 17.05 17.09 17.11 17.11 Point
1[Rf 1T EHO-> 170 0 93 45 32 170
2|8 HE S A-IL 93 0 0 93 93
3|EH B S A= 46 0 46 46
4[HAEE B EHO-> 2 0 25 2 27
5|fE BiF ZOUYTC 0 0 15 15
S|tPiR  IREE B7— 0 0 0
5|8 ZEX ZOUYTC 0 0 0 0
5|=% /& EHO-> 0 0 0
SRR BERR (U7 — 0 0 0
5|AfREH X— EHO-> 0 0 0
5|=H XE ZOUYTC 0 0 0
5|85 E— EHO-> 0 0 0
5|t Rk XA —hE— 0 0 0
5|l f@— EHO-> 0 0 0
5| XM X Sy 0 0 0




FH304E ATA RANKING (REFETHE)

[ RFS5>50#-59WBTSIINR | 2018075058547
i s pa— B | 26 | BEE | BUE | mE | BXZ | 2018F | 26k | BEE | BUE | mE | BXZ | 201/&
Point | 18.04 | 18.05 | 18.09 | 1811 | 1811 | Point | 17.04 | 17.05 | 17.09 | 17.11 | 17.11 | Point
N F—LU&T 200 70 70 70 74 24 29 3 200
2|m == Sl 107 50 50 52 2 3 57
3|E B ERIBTR % 0 2 2 92 %
4R & F—LUKT 80 0 22 35 a5 102
HE Sl 61 1 1 1 52 3 2 3 61
6|FR T2 Sl 57 0 5 24 2 31 62
7|8 &;X =OUYTC 35 35 35 0
AE iz 1= >0 A-IL 35 0 35 35
9I|lakR = F—LUKT 29 0 29 29
10|R8O  Hsh ST 26 0 3 20 3 26
11|EE BS— TLwORX 22 22 22 15 15
11|9E8 EHif =OUYTC 22 22 22 0
13| KN Peh Hr5F— 11 5 5 22 4 2 28
14|18 IEBE Hr5F— 9 5 5 22 4 26
15| AR fREE BRI U—> 5 5 5 22 22
155t ®k FLYOR 5 5 5 1 1
15| === THERLX 5 5 5 1 1
18|@E B ERIBT 4 0 5 4 9
19|KkiR  BB{Z ST 2 0 55 2 57
19|EE [E— BHO—-> 2 0 2 2
2i|@E EE ToF— 1 1 1 0 0
2i|ar =8 ERIBT 1 1 1 0
21| T sEth EAH R 1 1 1 0
21| s ToF— 1 1 5 5
25|/hE 28 BHO—-> 0 0 0
25|KTT X Sl 0 0 5 5
25|MB shE SvILFY 0 5 5
25[IRE ZA—RE— 0 5 5
25|@E fe— EAO—> 0 1 1
25|F n& B 0 1 1




FH304E ATA RANKING (REFETHE)

[ RF526 0RMEBTFSIILR | 2018075058547
WL Kz J— &t | 2RF | BEZ | RUE | mx | REZF [ 20185 [ akh | R&2 | BUE | mt | BXF | 2017&
Point | 18.04 | 18.05 | 18.09 | 18.11 | 18.11 | Point | 17.04 | 17.05 | 17.09 | 17.11 | 17.11 | Point
N F—LUST 249 22 22 5 84 51 92 232
2[4l =a SvFT 232 5 5 50 133 45 46 3 277
308 BE EAO—> 67 0 5 59 3 2 3 72
4|1hiK B F—LURKT 55 55 55 0
5[Ee = EAO—> 42 22 22 40 20 60
6|8 F— SvILF> 40 40 40 5 5
6|fRA F Sy 40 1 1 22 4 3 29 3 61
8|[it EE SR — 37 5 5 32 32
Bl ES SR — 33 1 1 1 32 33
10(FHE BA A —hE— 29 0 0 70 29 99
11{&R 3h A —hE— 25 5 5 27 20 47
12|BE = AA—KE— 7 5 5 5 2 7
13(AH BX EHO-> 3 1 1 1 2 3
13[R fi2— A —hE— 3 1 1 2 3
15(iy RS EHO-> 2 0 15 2 17
154 fi2Rd B 7 — 2 0 15 2 17
17 fl BZ8h ot 0 0 D] 5
17[Ar EE SRIH— 0 0 0
176 'EE  [SvlF> 0 0 0
17 5% E% AA—KE— 0 1 1
17 iR %5 AA—KE— 0 1 1




